



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{4}\right) =$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{1}{4} =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{5} =$$

$$\left(\frac{3}{4}\right)^{(-2)} - \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{1}{4}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \frac{17}{4} = 4\frac{1}{4}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{2}{5} = \left(-\frac{12}{5}\right) = \left(-2\frac{2}{5}\right)$$

$$\left(\frac{3}{5}\right)^0 - \frac{1}{3} = \frac{2}{3}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{3}{4}\right) = \left(-\frac{23}{4}\right) = \left(-5\frac{3}{4}\right)$$

$$\left(\frac{3}{5}\right)^{(-2)} + \frac{1}{4} = \frac{109}{36} = 3\frac{1}{36}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{7}{2}\right) = \left(-3\frac{1}{2}\right)$$

$$\left(-\frac{3}{4}\right)^2 + \frac{2}{5} = \frac{77}{80}$$

$$\left(-\frac{1}{4}\right)^2 - \frac{1}{3} = \left(-\frac{13}{48}\right)$$

$$\left(\frac{2}{5}\right)^{(-1)} - \left(-\frac{2}{5}\right) = \frac{29}{10} = 2\frac{9}{10}$$

$$\left(\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{18}{5} = 3\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{2}{5}\right)^2 - \left(-\frac{1}{3}\right) = \frac{37}{75}$$

$$\left(-\frac{1}{4}\right)^{(-2)} - \frac{1}{4} = \frac{63}{4} = 15\frac{3}{4}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{3}{4}\right) = \frac{5}{12}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{5} = \frac{6}{5} = 1\frac{1}{5}$$

$$\left(\frac{3}{4}\right)^{(-2)} - \frac{1}{4} = \frac{55}{36} = 1\frac{19}{36}$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{3}{4}\right)^2 - \left(-\frac{2}{5}\right) = \frac{77}{80}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{2} = \frac{33}{50}$$